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101|R#A7 L 231 57 174| Kg |EE 1,620 162| L 4,320 864
102|&JE 7= L 1,776 1,776| Kg S - BIE 3,305 648
111|&EEF £ 316 310 Kg |EE 270 S40 1,728 432
113|RAV S 19 16| Kg |E& 2,052 649|FLE 3,240 2,160
114|B5EFE 151 151| Kg e 2,754 540
15[ 1= 32 32 Kg |EkE 3,240 323
117[1E 48 9 39| Kg |@ES 756 ®s 1,080 108
21| bl E 97 44 53| Kg |EE 1,836 360| L) 1,620 648
134[#= = 517 324 193] Kg |=# 2,800 1,400| & 2,916 1,620
137|&5E.3. < 246 177 69| Kg |BER 3,672 2,160| £ 4,644 3,348
140(5 I 8 8| Kg sl 54,000 23,400
147|EZ O 58 58| Kg |EE 14,039 4,850 48 - Rl 8,640 5,000
158|EIEA A LS 257 42 215| Kg |@EB 1,404 864| &/l 2,106 1,404
201{Lb L 624 624 Kg R FE 432 288
203|/hd L 70 70| Kg R 324 270
205|3.3 L 580 580| Kg L 605 281
206| = 1F 588 588| Kg e 1,296 216
207| & A% 264 264 Kg imE 1,890 953
208| Mo % 82 82| Kg AR 1,836 1,404
210{1F AL 4 4l Kg RI% 2,700
212|&5E.3 Y 315 315| Kg El - BERE 2,052 1,296
251|< £ <3 332 332| Kg FIE 7,344 3,942
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254|ED12ELCA 472 4721 Kg 2Pl 1,998 972
3031 A 7Ly 59 11 48| Kg |RI& 288 2830 540 360
305[£Aah 0% 5 5| Kg FE 2,160 1,620
306|L e k) 54 541 Kg i 1,008 720
315|7: B9 6 16 16| Kg = I 4,104 3,780
319|h o 240 105 135 Kg [&=E 1,728 582| K& 2,160 494
332|113 WA =EF 150 150] Kg Bl = 1,944 1,782
351(4EH 35 5 30| Kg [3&E 3,996 =k 9,720 4,212
35411FxE<Y 45 10 35| Kg |FFE 1,296 =5 1,728 1,134
355(mp Y 131 131] Kg time - BE 1,404 108
356(L L& 30 30 Kg SR 1,080 810
357|7RE 47 471 Kg FE 1,944 810
358|KE 20 10 10 Kg [|EHM 1,404 FAN 1,944 1,728
362|Hh & 315 315 Kg INZ 4,104 810
401|H W 24 241 Kg FAN 2,592 2,160
4025 5 &E 15 15| Kg A0 5,292 4,536
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A—wah 110 110| Kg 73 810 702
Jasy by (AN 80 80| Kg JtiF 1,450 626
RGBT AV 225 225 Kg 73 4,320 473
ARUEAT 108 108| Kg 3 1,500

SE WA AR 20 20| Keg F 900

TRER 10 10| Kg JtF 972

BRI 287 287| Kg 73 2,500 1,650
RS T 90 90| Kg 77 - AbF 2,430 980
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70110 BA 3,746 3,333 413 Kg |EE 2,862 1,891 k% 1,728 1,436
705|7=2< ¥ 6 6 Kg B 5,000
709(Wb L AT 4 41  Kg FIE 1,044
710|195 2 ®HA0F 304 3041 Kg IR 1,296 1,205
BlBEFALANIN 357 305 52| Kg |[B1R 936 T78| & 1,244 798
755(Fd L 198 198| Kg JbiF 828 675
56| £ 9 8 8] Kg Z1l 756
7611 b BHAEL 6 6 Kg EE 2,700
763| Z AMC 51 51 Kg |&&E 6,322 4,500
801 [IEAL = 1S 412 4121 Kg tmE - mA 2,700 540
802|1 x| 10 10| Kg mE 1,296
8051 1E 101 101 Kg biF 1,037 691
807 [18H D F 36 36| Kg gl 4,536 4,428
810|BAKTF 51 51 Kg B =2 2,835 2,160
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